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1. (20 43) Find jl_sé%dx Note: sin®x means (sin x)°.
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3. (10 47) Evaluate Ii(x—z | x[)dx.
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when D is of both type I amd ¢ype I
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Sol . ZBND , AX T G5HNENE of type I o0 I
X
J 1

B2 @

%R 3,0

AAAAAN

2 ¥ i D 9 type
D rs of both -i'rérpe I anrd fé«/pe L

= ﬁ%@% inteasection. poirds ( Zd),
BEBC R BT RE Bk

LAY e B Y=l Gi8 -2 (5,4,
%/(/ { - a
(=12

lﬁ!"ﬁ'& BY g=axteh ams 124,

But “ffﬂpe 17 75 mere comp/rcafeof’ B% 1% % 59 0 bype T Ve Y

because +he |mwen bazmdméf copsists of +wé paks.

BUD, & I%y

b=fowy|-2eyed, Lbcxzyn}

ffxzjd/f! f f“xg dzdy

¥

type 105, 2B 2 (%)
thpe L85, 2139 (EF)

213, x=y—— / /
f ['E[ ‘5d5 > x=y+1

(2) £

/
)

= (%@—'g )dj ”

_.2) GE=

_BLiiCEg B B

=34




0 BB K type 10k 2
y

A B
e
= O _ -l I
. A= dydx
i A ron -
/l/ 4 + (5 (T3
ST - J I ug g
s Al S
e e W@i*%;}ﬁfﬁj&
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YIT. Find volume of tetrahedrom (BEIE) bounded bg the planes
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.
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X 45115 Evaluate ffx sin (4% dydx. m
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zf,; 4sin(4*) dy = f'—' sin 47y dy*
=TT ==Ll -|)
.P)’Dp%'hw rE" )
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